EAGRAROBREERT — 2 N— ABISH —F

202075188 (&) 4mEFR#H5H

W+ S5 %3 KB (RS [EE] Ei (xwlw | lmEmml - |2 6 20w 8
[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
A 5 43 | JIERHE 2:16.0 11-11-7-4 [ 37.5| 87.5 | 1 446 | FRARE (EX)
1 4%/ >7-0 56.0 = Lo | W) F/u53
R:F4—TA4>nN7 b B:xr/20-X J—=HrTp—L
4 3 | BB 2:16.1 4-4-2-2 |37.8| 86.8 | 4 474 | EKAE (RR)
21714 TILtEX 56.0 (1/2) (-q) |BER=AL LT
R:27)—>e—0O— B:HELITZ>TaT (B) A1 —-FKL—v3>@EI7
A 4 3 | E=REH 2:16.4 9-10-9-9 |37.5| 83.8 | 5 470 | RIEBAN (ER)
3l8l16| 7171 x>7 56.0 R © | EBHEHD ()
R:F4 =427 b B:74 ERT7—L
<~ 5. BREE :16. ~15-16- . . BERE (EXR)
4 nlra-3zv7q 4 3 il 2 (126) 7 15-15-16-12| 37.4 | 80.9 | 16 ;1_7; ol e
R4 7 NT—IEY BT TYIT ¢ J—H LT p—Lh
SIS . 43 | BEHE—EB 2:16.8 12-12-14-9 | 38.0 | 80.4 | 6 408 | BDEE (ER)
51510/ YV —#NNO=2X 56.0 (1/2) © ZE%EJZ\';X
AN T =TI BEA4T7FNAO-X chE 45
== s 3 | dtRR— 2:16.8 3-3-2-1 |38.5| 80.8 | 3 424 | BERE (ER)
Eﬂm 7 oAerz Iy 4.0 (7€) ) | B FrF-L—vy
RiFLTHANAN B ZHFFA b J—HT L
o= > 3| X 2:17.0 7-6-4-3 |38.7| 79.2 | 15 | 462 |E=EMER (ER)
718117 IZ—FIVINT 4« 56.0 M o) ‘L(’HO % Sr-x
L IE77x47 B:w> Ko7 J—=HrTr—LA
PN BERK 7. ~4-7~ . . MHEER (EXR)
8 5| VTP RS i 3 e 2(31/74)1 4-4-7-6 | 38.4| 78.0 | 14 igg) ﬁ%i
R:¥XF B:HIEXI-F2K HRSHE EH77—L4
4 3 | ERE 2:17.1 13-14-14-6 | 38.3 | 77.9 | 11 460 |PARE (ER)
911 cNLVT 56.0 (1) (-6) KEME
L:7—=IRI-ZX B:O0-¥Fs73>b ILIL, Y3%ET7—LA
o T = # 3 | BER 2:17.5 18-17-16-16( 38.0 | 73.9 | 10 | 482 |=A&lE (RR)
w3 ¥y AEevYIHF (Bl 56.0 @ 1/2) () |EORE
LNnN—ErIrv— B:JI9yx—EY HET77—L
: . g HEEH 7. —6-5- . . FEEIER (EXR)
» NPEGESLPY P i 3 e (2717775) 6-6-5-4 |39.0| 75.1 | 9 <4+726) EE
IET773x47 B:O-¥RZ—-% J=HrTp—L
s REME : -17-16- e A (FEE)
1l5lglTbT—z0 i 3 S 2.(158).4 17-17-16-12| 39.1 | 67.2 | 18 z:;g) L
LI FLyY BEIFTIIC 7975 TT—L4
= 4 3 | BBERER 2:19.3 13-12-9-6 | 40.6 | 62.1 8 474 | MATRLT (BEH)
EH 7| NFT [B] 56.0 ) +2) {«}Baﬁg%
LN=Y7714 B:Xx7 #HBET77—L4
= s 3 | REMEC 2:20.2 9-8-9-18 | 40.7 | 54.9 | 13 | 444 |=HERZ (ER)
14| 8|18 Y U_7719_ 54.0 (5) -12) SHES
R:F4—7TVUS> 7 B:O-UFvy b HET77—L
o, i 3 | FEEER 2:21.1 7-8-9-12 | 42.1| 50.8 | 7 476 | BEERB (FR)
151112 Y hIN=2T7 L 56.0 (5) (0) (%) ¥ hIK—ZH/tZ—
FA=TANG N BN XA — bR—L TRERS
S “ 4 3 | AEEN 2:21.3 1-2-5-16 | 42.2 | 49.5 | 12 | 424 |REBK (FR)
EH 6 M3 '7717'7.7 J 56.0 (1 1/4) (0) AARGFIE
RG> h—y B:Ax4397UT A e ]
5 4t 3 | BBE 2:22.3 2-1-1-15 | 43.5| 45.2 | 17 | 452 |‘EABEA (EX)
1717113 71 7 ) —=F1 b 56.0 ®) (6) | BHEETF
¥ JANZN B:JO0-UHsFqa RARK
4 3 | BKkHE— - 15-15-9-9 | — — 2 500 |BERfE— (EX)
sx|7[15| 7L 1 2 [B] 5.0 (sbik) Cio) | W) G1L=s>y
L:A—KAH+A7 B:IUT7CH2R (B) A1 —-FKL—y3> @&y
@ 21 L
£y 50.4-37.7
NA> &AL | 12.5-10.9-11.3-12.2-12.5-13.2-13.0-12.7-12.4-12.4-12.9
® I—F—&EBIERL
| S=7r= (x6,13)-12(5,14)8(2,17) (16,18)-4,10(1,7) (11,15)-9,3
23=7F= 13-6-12(5,14) (8,17) (2,18)16,4-(10,7)1(11,15)-(3,9)
3a—7F— | 13(12,14)17(6,8) (5,4) (16,2,18,7,15) (10,1) (11,3,9)
Mal=5r= (x12,14)17(8,4) (5,7,1) (16,10,15)-(11,2,9)13(6,3) 18
0 IR
B R 4 230M| | 71 K 4-14 380M | | # = 2-7 330/ | | =& | 4-14-16 4,280M
B B 4 140 4-16 1,060M B E 4-14 840 EE 4-14-16 11,940H
14 190M4 14-16 1,710 B H 4-14 1,160M
16 470M

ABRICOVTHRTEEERROODE, THEB LS,




